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Section 7.6 

Double-angle and Half-angle 
Formulas 
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2 3If cos , ,  find the exact value of:
5 2

(a)  sin 2               (b)  cos 2
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  = − − − = − = −       

2 2(b)  cos2 cos sinθ θ θ= −



Copyright © 2013 Pearson Education, Inc. All rights reserved 



Copyright © 2013 Pearson Education, Inc. All rights reserved 



Copyright © 2013 Pearson Education, Inc. All rights reserved 



Copyright © 2013 Pearson Education, Inc. All rights reserved 



Copyright © 2013 Pearson Education, Inc. All rights reserved 

1cosSolve t 2he eq cosuation: si i
2

 n 2 s nθ θ θ θ− =

( ) 1cos 2 cos sin 2 sin cos 2 cos3
2

θ θ θ θ θ θ θ− = + = =

( ) 1cos 2 cos sin 2 sin cos 2 cos3
2

θ θ θ θ θ θ θ− = + = =

23 2   or  3 2
3 3

k kπ πθ π θ π= + = +

2 2 2  or  
9 3 9 3

k kπ π π πθ θ= + = +
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Use a Half-angle Formula to find the exact value of: 

(a)  sin 22.5°              (b) cos  5
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π
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1If cos , ,  find the exact value of:
5 2

(a)  sin         
2

(b)  cos          
2

(c)  tan
2

πα α π

α

α

α

= − < <

,  so  so  is in quadrant I
2 4 2 2 2
π π α π αα π< < < <

1 cos
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 − − 
 =

3 3 15
5 55

= = =
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2
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=

11
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 + − 
 =

2 2 10
5 55

= = =

15sin 15 150 5 6 652
10 10 210 10cos
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